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THAT 929 (Model Question)

eIl : qO0 qUITEH 94

fawer « fasi= qor gfatg THY 3 "Il

T yo wfard 3 1 (All questions are compulsory.)

gue (%) (Section A)

Sgerhieas TeEs | Multiple choice question. 10x 1 =10

1. qereRt Teaa! (5 faeperan Mer fags (0) s | (Circle the correct alternative of the
following questions.)

a. e RigwRdlee g1 dfear ==xor a@ar #ed &4 & ?(Which of the following is first stage
towards signal receiver?)

i. fe®rer (Decoder) ii. g=h1eX (Encoder)
iii. feHrga=er (Demodulator) iv. Higgrex (Modulator)

b. arswaars fba RraHwT Afauar & 7 (Why is cycas kept in gymnosperm?)
i. Bl Feg ¥ forg goared g | (It bears flower and produces seed.)
ii. el e ¥ A|HT aTq fa@r g | (It bears flower and has pointed leaf.)

i, Felehl FEAT BT gwg ¥ et {3 &+ | (It has cone instead of flower and seed is present
inside fruit)

iv. FeTehl FEaT B0 gy ¥ weaterdrebl A1l for3 &= | (It has cone instead of flower and seed
is naked)

C. Tw[ol JATTSTIETHT Saeteh] TTGHT AqATHT &l g SAd ATHT T TAATHR qTGH | Il oa
A F IRR GUE GUS Yehl ¥ Sd B FI ¢FIX GUS @US TUXH! GiF UTge | AU faervar g
TR IHd SATagegwa=dl Tadl Hed &7 w9 ¥el g 7 (When Sanju observed specimen in the
laboratory, she found that both the organisms were long and cylindrical. She also found that

organism A has cylindrical segmented body and organism B has not segmented body. By
studying the above characteristics, which statement is true for these organisms?)

i STa A IWalasil &1 w9 Sia B ustagd(r & | (Organism A is hermaphrodite whereas
organism B is unisexual)

i, ST A T &7 w9 Stra B Iwafassir 21 1 (Organism A is unisexual whereas organism
B is hermaphrodite)

iii. S A fe=Aredtiees® & 99 9= Sia B fawireartee® 27 | (Organism A is diploblastic
whereas organism B is triploblastic)
iv. 5ta A fadrearieas &1 w9 g B few=rediiee® & | (Organism A is triploblastic whereas

organism B is diploblastic)

d. Ferrr shiafedl T wellad! [Hadare e Sia ATl T@eUH & | T8 TRITHT it
T HeslTeeh! [o=rdT el d=ad g5 ¢ (Cordyecep formed by the fusion
of caterpillar and fungi is shown in the figure. What is the interrelation
between caterpillar and fungus in this process?)

i. Feamaife® (Symbiotic) ii. astrET (Parasitic)
iii. @TefR®  (Saprotrophic) iv. FH=fasH  (Commensalism)




e. JATH g 6 x1024kg & | TFHT Hwsare 10000 Km I=MSHT GFAREH! IeahlTUeh! THeayaT
#d g5 7 What would be the acceleration due to gravity of the meteor falling from 10000
km height from the centre.

i. 4.2 m/s? ii. 4.002 m/s? iii. 4 m/s? iv. 4.02 m/s?

f. TEAT q=aT FHEH! AT T Al Gl FRIT & 27 7 (Why do objects float more easily
in sea water than in river?)

i, IR Wl HHgEhl qrrel uAcd o¢l g | (Density of sea water is more than that of
river.)

ii. ARl w31 FHAH TIIhl Tca &H g5 | (Density of sea water is less than that of river.)

i, TRIRI FvaT FHEH! ARl qT9HA ¢l g | (Temperature of sea water is more than that
of river.)

iv. Q! ITTehl el FHFH! qTHIHl a9 A %W g5 | (Temperature of sea water is less than
that of river.)

Q. AR TISHaTE & WeITehT fa=gaeehl ¥l Jf@w AT, el Sl T (el TS TehreTerl
fepRuTel fysafaael avTers FAT Uy, Vg, Vp¥Vp TTHEDT T | SH AT ISHT NEwdl HH
fAarSer &7 ®¥ ¥ g ¢ (Sarthak named red, green, violet and blue coloured ray in
dispersion of speed in prism as vy, vy, V,and vy, respectively. Which is correct order of

speed made by him.)
Ly, <vp, >, <1y iy, > v, > v, <7,
iy, <v, <v. >, v.v. <v, >1,. <7,
h. FEATIgH Iafqar FaH=T qEAWE fagr F&aars | ¢ (Which is the most realistic
theory about origin of the universe?)
i. efrarates g (Heliocentric theory) ii. fsamaf=® fagr=r (Geocentric theory)
iii. =ra=rerr fagr=a (Newton's theory) iv. fav1 =18 fagr=a (Big Bang theory)
i. fegusrt TEmafe yfafearr X o @ Srss 2 (What is denoted by X in the given reaction

?) 2KCIO;  — 25 2KCI+30,1
i. ST (Catalyst) i, @19 (Heat) iii. =19 (Pressure) iv. 9191 (Light)
y g

j. T TSN FHIF T Al a% [G3UH G | (A statement and two arguments are given below.)
FIT © HTI TRAERT ATIRHT AT [qUTET T3l IR 27 | (Statement: Stomach pesticide is
a type of pesticide based on mode of action.)

b 1 a9 GIRATHT [aoTal ArrehT foare ard a1 wAhd [T @ial [aReEs 7 |
(Argument 1: In this process the insects die when they eat leaves and fruits of the
plants treated by pesticides.)

qE 2 . T [GUET ETAThl TFIHAT AT, (U e [iereg ST FR [T A8 |

(Argument 2: When these pesticides come contact with air, poisonous gas is released,
due to which the insects die.)

i. ®I9 T % 2 el a¥ d& 1 TAad (Statement and argument 2 is correct but argument 1 is

incorrect)

ii. 99 T T% 2 T@q a7 d& 1 Fer (Statement and argument 2 is incorrect but argument 1 is

correct)

iii. 99 T % 1 WEr a¥ d% 2 Tdad  (Statement and argument 1 is correct but argument 2 is

incorrect)

iv. FI9 T & 1 TAq a¥ d& 2 el (Statement and argument 1 is incorrect but argument 2 is

correct)




gusg (&) (Section B)
2. Afq Wer IAX ATSA THEw | (Very short answer type questions.) (9 x 1=09)

a. Faf=a =re® fd Ae@aw g 7(Why are controlled variables important?)
b. sfefatesterr fagr= @ete ™ | (State Archimedes' principle.)
C. e Irar ¥ el 33 gearsd Aldedq | I9d THITH W& FRU & &l 7
(Anu cannot distinguish red and green colour. What is main cause of this problem?)
d. T T T AT faemdiET snieet SwerAr awar ertorer WA Afguar deRe® T T@T ¥

AfeqH I FET OTHAT e HET @ | a0 HHNN 8alSd & o=l TN THdE 7 (A

student of the class can see letters written on instructional board

when s/he sits on first bench and cannot see clearly when s/he sits aﬁ"""_'p U??}H{?F;{ Irv
on last bench. What type of lens is used to remove this defect?) ™
e. [SSUHI =T BT TFFAR Aargerad (&R @ & g 7 u
(What happen when bar magnet is placed inside solenoid at Gavanomeler
rest?)

f. FEATISH AiaT IR T IHE FRF a7 & &l 7

(What is the main cause of determination of future of universe?)

g. FATHHT JHE@ g3l 719 oetard | (Write the name of main ore of iron.)

h. gfdee TERTeTETAT ReFa"are I arTdrs g aHIST SadelRhIeH g [ SAle T ¥ 374
G ATATATS AH HUMCHE gadT T G ATHTATS AD gATCHE FaAT ST I T ATSeH
FOHT PR Fthe YART X | IT AT AT Tl Afe & &1 7 (In the laboratory Pratik chose

electro-refining process to purify copper obtained from reduction process. He connected

impure copper to negative terminal of cell and pure copper to positive terminal of cell and
copper sulphate is used as electroplating. What is the mistake he made in this process?)
i. [ESUFT eTeSFraaad AfRIard ATIRAT T3 T AETe |

(Write a difference between the given hydrocarbons on the H 'Tl H\ /H
_ o H—C—?—H /C—C\
basis of reactivity.) H H H H

Fig A FigB



gug T (Section C)
BT SR ATSA e | (Short answer type questions.) (14 x 2 = 28)

3. fa@ @@l s AEH (Q) = kgm?s~3A~2 g5 WA yATTa erd | (Prove that electric
resistance (Q) = kgm?s™3472)

4, ITT=R TR F g5 fa9mar &2 | (Write any two characteristics of the class amphibia.)
5. feSUH @R =7 g q TR AT B % 9H «&fa 4 | (Study the given concept map and
name A and B.)

ST THETRIT S
th : | Fertilization 5 Ferlti?lq:?l
Ao, Parthenogenesis Honey "
6. AMIfEF T WSHH HIHMSTHS! [o=HT % g5 Bk oeterd | (Write any two differences

between somatic chromosome and sex chromosome.)
7. 98 FTAl {41 (BB) ¥ f&HTET et war (Bb) fa= TN 9E ATSH qRUTHET ATd IATSTRE |
(Draw a chart of the result obtained by crossing black mouse (BB) and hybrid black mouse

(Bb).)

8. TAHT T ST IRTSTT IAT THRTHTIHT |AT 2500 TT2AT | THT F §5 FRI & & g qaa 7
wetar g | (White blood cell of Renu's blood is found 2500 after examining her blood. What
are the possible causes of this? Write any two causes.)

9. BT T AT fafa= fopfaser JSredl Tevs | dR aTHT AT RTHl IT=RAT AT
ATHET T TG | TGP TIAT BRY G2 | AT TSPl ATFTH FART ITHHT AT %
TS, 7 % Uk a1 deterd | (Despite the medicinal herbs in our locality, we are dependent
upon imported medicines. Write its one cause and what can we do to increase the use of
medicinal herbs? Write a point.)

10. EAAAH TeArar g9 deterd | (Write any two effects of gravity.)

11. ®fawer 49 faer Sl TERaTe USer gl AT | Ush ebredis Sl bl geil @arel | gof
F Tk GHAAT SITATHT SITFRFT | el F Tl TG ggaT @aTel | fedma MY o1 s e
| (Kabin droped a stone from a tower of 49 m high. One second later, he threw another
stone. They both hit the ground at the same time. Find out the velocity with which he threw
the second stone.)

12. feguert fora ega e T Ao GeARl ST ACTerd | (Study  pyjpary [ Secondary
the given figure and answer the following questions.) o [ ] -
i form & yERE IR dETeua B ¢ (What type of 2 {4 e
transformer is shown in the figure?) S 1:E —

ii. TP TART fa=gq eAr fbd =g ?(Why is this used in
power station?)




13.

14.

15.

16.

frarer FerraT feguel & ITEHROT SIS AR FTgedl T& a¥ FH
TS | T FATGAHT T X TGS % % Il ? BT g5 I
«efard | (Niva made the device as shown in figure but rate of
rotation of coil is found less. What should be done to increase
rate of rotation of coil? Write any two methods.)

AT ®ifHed T A, B ¥ C AT sRIeR ATIATHT eTgIdliTe
¥ TR B | Al AT C AT 10 g =[Gl gt 7 B AT 10

g 7 TG ThT BT I FF BIAb FoATFIH AR

gfaferared X del g 7 FRUERT delerd | (Suppose equal

volume of hydrochloric acid is kept in conical flask A, B and

C. If 10 g powder limestone is kept in A and C, and piece of

10 gram limestone is kept in B, in which conical flask rate of

chemical reaction is fast? Write with reason.)

T ATNCTHTAT Bl Teh BTSTHIEehT ATNTheT 0T T YART 43Tl = | (The property and use
of a hydrocarbon compound in the given table below.)

o (Property) g (Use)
TGEM T Al W@IE U el avd | (Rergars Wedr o adrsd (Use  as
(Colourless and viscous fluid with sweet | sweetening agent in confectionery)
taste)

i. S%d AfTeEwr IUPAC ATH &Ter | (Write down IUPAC name of that compound.)

ii. IHT ANTHATS T BTESIATGT GiAThaT &7 o ATNTehepl JL=T G Jeterd | (Write
the structural formula of compound formed by reaction between that compound with
plenty of hydrogen.)

At 28, 2023 |1 "My Republica” a1 Feiiard wfi7sTer @eerrel [a=merr Hel #er Fet fagues!
oo "ATAS I 4R&9 P G TAATER FARA TS FANT g HTedTH HIargSHl
AR (A TR @ | RAGAH Fla5e T THEAT TN TR HTH BIH] FARA THSal
foaTaTdr T —RTASR e @fd@led HITed WEHT alMeRe TATd g4 a3 1" (A part of opinion
of Mr. Abhisekh Khadka published in The "My Republica" on 28 April 2023 is given here-

............ "In Nepal, the use of calcium carbide to ripen fruits is prohibited under the Food

Act of 1967. Artificial ripening using chemicals such as calcium carbide can have

detrimental effects on human health, including poisoning and neurological damage.")

T ARl ATRAT Ffatgd geder 3% Jeterd | (Answer the following questions on the
basis of this part.)

i, T THTTHT TS AT TATETAT Mg AT [4gUaT aTee & T 997 oreterd | (Write

an effect seen in human health except above mentioned by such chemical.)

i, TTERNTT ®9HT Rl Jhrgd TANT &9 9 TH fatg oeterd | (Write a process to
ripening food by traditional method.)




gug (7) (Section D)
A IR S Y¥Ae® | (Long answer type questions.) 7x4=28

17. https://www.celebree.com/blog/resources/the-pros-and-cons-of-technology-in-education/
H GG TRUH sl el oes, THATATSIT B9 3T STa=eT A1 2THT sTeAaTieesTe
Y EFTAT ATIAT Udh TUH B | FETHIST ¥ (qebrg ATaraRorsl diaaqanas grafa e

AT ATHETIE T I G g T, "

(A blog addressed at https://www.celebree.com/blog/resources/the-pros-and-cons-of-
technology-in-education/ writes:

R Technology has become a foundational component in many areas of our daily lives,
as well as our children’s. Within the confines of the classroom and learning environment,
technology can be both beneficial and problematic for students. ............. ")

i, ST FA daTarsirel aud el 21 7 (Which technology does the blog describe?)

ii. SERTHT Joei@ TTRUHT AT ThRTEET I B | e g5 ahTgaT @&tz | (The technology

mentioned in the blog also has disadvantage. Write any two disadvantages.)
iii. ity Ifeafad gfafamr Al #1 % U 7 Sei@ e | (Mention any one use of Al
in the technology mentioned above.)

18. FHERITHT HUH ATAE TeT qd FIIUHT Tel I e« | (Read the newspaper
article and answer the questions that follow.)

el RICIHYT (Tahe) T T ?

AfE STATEaREEHT AN I 9% | FATE TUHT AT Tl faotdl AT % g (90T | qareet
FeraraT SE9URT AT ThadE Rl BT | THHI ATH ToAl &1 aX Sofl UgaT TRV HST A Tehb afA
ETEF | AT T TETHT FT g | FAAh A qoed S&T &1 | Ugal HISAe o I&d ord
freprent fafir #efifg 21 1 Sl ATS Sire STt (07 WUl HET SAT9 qhel HUHT T |
S Sl &l |

TG ASTHT AT TEE] TATSH T T (AT T RS WHEH AATF 9 [aera 9T | 39
T3 Tk ASTHN (§ 7. L) T 9T THIH AT 397 [T | G AT AT I ~ATFATH
PEATWR bl TS (X 7. TS &1 fer o faemy | fevar @i framgaft sar g fe=
HISTHT IT TSHT HUHT 0T ATehehl T T8 82T | TG FHATUart fewaspaars ga+ faenaer a4
TS (3 7. FEN) BT AMSAHT FARA X | JGT AT THAT 95 T el JLelrg o {43 |

He] ASHebadel hel TUNTTAT HIAEAT Ui Flid TwTT
JUHT FEREHT T | AT X JITHT ALBR HITAAR
FANAGATS BIAAT EIATE Ak AMTHT S |
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A copying machine for living beings?

Without any doubt, if there had been From that small piece he removed the
elections for the animal of the year 1997, nucleus, then he transferred the nucleus
Dolly would have been the winner! Dolly into the egg-cell of another (female) sheep
is a Scottish sheep that you see in the (sheep 2). But first he removed from that
photo. But Dolly is not just a simple sheep.  egg-cell all the material that would have
She is a clone of another sheep. A clone determined sheep 2 characteristics in a
means: a copy. Cloning means copying lamb produced from that egg-cell. lan
‘from a single master copy’. Scientists Wilmut implanted the manipulated egg-

succeeded in creating a sheep (Dolly) that cell of sheep 2 into yet another (female)
is identical to a sheep that functioned asa  sheep (sheep 3). Sheep 3 became pregnant

‘master copy’. and had a lamb: Dolly.

It was the Scottish scientist lan Wilmut Some scientists think that within a few
who designed the ‘copying machine’ for years it will be possible to clone people as
sheep. He took a very small piece from the  well. But many governments have already
udder of an adult sheep (sheep 1). decided to forbid cloning of people by

i. ol g¥Ed §eT &4 &1 7 (Which sheep is Dolly identical t0?) 1

i, STorEAT STl qPT TshaH ITHT 97 9T Jeorg TRTHT & | TFPT ATIRET TITE AT Uehad
TTHT HTRT AT A=A g S | AT THIH FTHT 397 % 27 ¢ In the text, part of the udder
that was used is described as “a very small piece”. From the article text you can work
out what is meant by “a very small piece”. 1

jii.  TorgeRT ATRTH ATRIET TFATT T GY TeAHA HIHTPT FANASATS BIAAT TTHT ek ATTHT
I G | AGHT AT AT AT T3 R0 qd I TRUHT G | & AT FRI S3(11H
FRUEE g1 o ? Jdd HRUBEANT “Yes” a1 “No” AT Ml RS | In the last
sentence of the article it is stated that many governments have already decided to forbid
cloning of people by law.

Two possible reasons for this decision are mentioned below. Are these reasons
scientific reasons? Circle either “Yes” or “No” for each. (2)

Reasions Scientific?

FAH  TETHN FOAH  FRET IRl AT AT HET=RT T3l
g9t g | Cloned people could be more sensitive to certain
diseases than normal people.

'Yes / No
AT e Gitashaiel IHFTATS ATheAT 91 237 | People should
not take over the role of a Creator. Yes/ No

19. I=9 TEIATIHT el AT T el d=d I oreferd | (Write any two symptoms of high

blood pressure and any two preventive measures.)



20. fegURT ITHAT IR ATT T AIHHE G I@IBUH 3, | I

U AT T TABT JeAh! IR aetard | (The relation between 2

volume of water and temperature is shown in the given graph.

Study the graph and answer the following question.)

i. FersraT SaTsueT qrre faere qurems & A ¢ (What is the special
property of water shown in the picture called?) (1) ' Temperae G

ii. arres 0°C 3f@10°C ¥+ qarser avcaHT sfa afvada et | (Write the change that
takes place in density of water on heating from 0°C to 10°C.)  (2)

iii. ITTeRT T frdTor TR B Uk AR e e | (Write an effect of this special property
of water.) (1)

21. T gedHl 3% faer | (Answer the following questions.)
i, BrPY ofr T B gt ke g% Bk Jelerd | (Write any two differences between

concave lens and convex lens.)

\
1/

ii. 8TAT ¥ HIHET ETaATdATs (a3 HIAH T Hiodrs qa- 4rerd 91w, f67 7 (Between air and
glass, air is called rarer medium and glass is called denser medium, why?)
22. fagUaT qTae® AT Bl Solad[ [a=aTd HAAIT I (U Jedeh Ia% «eterd | (Answer the

following questions on the basis of electronic configuration of element A and B given

below.)
A =152, 252 2p° | 3s? 3p°, 4s! B = 1s?, 2s? 2p*
i. a7 A URaIe® drfasrel &a I9A 98 7 (In which group element A belongs in periodic
table?)

i. 777 B UfeAife® arferarel & fufkagHr a7 (In which period element B belongs in
periodic table?)

iii. AT B THOR I ARTehepT v sreterd | (Write down molecular formula of compound
formed by combination of A and B.)

iv. T B @S fohe UTeditgs atfeaertel p sAeHT At@uer ar 7 (Why is element B kept in p

block of periodic table?)
23. TARTIMATHT THITAT ST FATS (aiaehl ATATS R (9 HIHa™ | W9 SRAT AT G GRIe70
T U3ger aer @eterd | (Draw well labeled diagram of laboratory preparation of ammonia

gas and write down a method to test this gas in the gas jar.) (1+2+1)



Answer Key and Marking Scheme
Section A
1. Multiple Choice Question: Key answer
a. Key: C fedggeex (Demodulator)

b. Key: D IHHT ®eAhl Aaal HIU g, FHeAfadrerl A3 {3 g3 | (It has cone instead of
flower, seed is naked)

c. Key: ASiia A S9afaglt &1 9= g B Tt 27 | (Organism A is unisexual whereas
organism B is hermaphrodite)

d. Key: B ozsirr (Parasitic)
e. Key: B 4.002 m/s?

f. Key: A. Tl 9Teilehl 92T ¥H=h! qrrl oqcd del  (Density of sea water is more than
river water)

g.Key:Cyy, <v, <v. >,
h. Key: D ferT =18 fagr=t (Big Bang Theory)
i. Key: A. 3ca%(Catalyst)

j. Key: C.®99 ¥ % 1 ¥&1 a¥ @& 27Ta@a  (Statement and argument 1 is correct but argument
2 is incorrect)

Section B
2. Very Short type question: Marking scheme
a. TANTH! (HShUere |G SIS/ A(CTEATATS (q9adAg TS (A =X HETI0 g A

q dASF

b. & AXAE ATF a7 To ETHT XA TSTIHT SATSET AN FeAMT ol Tl [areaqnfae T

TRAPT ATATT TR &7, AT q qgF
C. ALMIGHH AT 9 oagh
. b ST R T, ST q agF
e. TTCHTHITHER T gebl ATAR! 49T GfRac gam oIeHT q ugH
f. TEcaee @A 1 sk
g. BHICTZE EHAT 1 AP
h. eg ATHTATS Al geTcHE gadT qsilied dHT q AEH

I. Fig A &I gTsgr&ad &H Aihd T Fig B & aggaed del dihd JeAl q dgH

10



Section C
Short Answer Type Question: Marking scheme

3 p=V_W _ Fxd os —
I QxI  IxtxI]
2.2
= kom’s DM pgm3sT3A72 R 9 AgH
AXSXA
4.i. IHEEH ST ATl g7, AQHT q ASH
ii. Frie®e® RATS TIH! T B8 T T3 ANTHT GeATSUH &5, TG HT q AIH
a1 A FET R AE I AGHT R AqgP
5. A ST HIT oT@HT q AgH
B T HIRT ST q agH
6. i. FHTcH HIFSTH TREFT THIU TATCHT 0T ATeX TGS, | TR BIHSTHA STAD! (ST a0
UERICEIl 1 Ak
ii. HIaF FREGHEER FSIH qAEE T 78 | ToT RIASIHEEH SASIHN aATad Fieh
WP S AGHl 9 <P
a1 A R R (qehed AT R ATF
7. A [GSUH =M FATCHT R AIH
Phenotype Pure black Hybrid black
Genotype BB Bb
Meiosis Meiosis
Gamete B) (B
F1 generation BB Bb BB Bb
8. 1. W ggwAW (Viral Infection) wrdT 9 AgH
i, a9 7Ry fewerer/ wdr gHa fefost e q o<H
a1 T el R I AW R ATH
9. FRUT TATATTE T FAT, ATAAGT AT T T TGHT q AgH
A AR ATTATR AR T, T H T q ISH
10. i. TECAT TET TR AA g7, TGHT q aTF
i, TG El JATgATE GATH! qX] JEATH By TS AGHT q AEH
a0 ST HEl R I A™H] R ASH

11. TeSTeht
afedl gEImeRl q&ehl a (u)= 0m/s
2l 3918 (h)=49 m
o 94 (g)= 9.8 m/s?
We know that,

1
h=ut+§gt2

1
07‘,49=0><t+§><9.8><t2
or,49 = 0 + 4.9 x t?
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or,t =3.16s
Again,
FTGT AT SITHTHT T AR T80T (t1)= (3.16-1)5=2.16 s
ZraRel 33 (h)=49m
T e (g)= 9.8 m/s?
TN TR i (V1)=?
We know that,

h= t+1 t2

1
or,49 = u x 2.16 + 5 X 9.8 x 2.162

or,49 = u X 2.16 + 4.9 X 4.67
or,49 = u x 2.16 + 22.88
or,49 — 22.88 = u x 2.16

or,u = ﬁ = 12.09 m/s
2.16
~u=12.09m/s
fegusr ¥ g7 @& o q ASH
ThIEEied Edre qer TH q agH
12.i. ¥ AR IFAHHT AGHT q ¥gH
i, ATAT AT (&7 TEROT & [GRa! ATHE Teargeal AT eHT q H
13.i. et TSI AQHT q ASH
ii. TFIEE! aTfad TESIS AQHT 1 ASH
a1 AT Fel I AGHAT R ATH
14.i. ®ifHa TRt C 1 IqAS fdindr el grg adHr q gh

ii. PIIHA FATRT A FT =21 C HI AT "MARl eI I ATIHRA T & | a8 B &1 w1 C &l
HTART IMEIA TGl T IFATRIART TaTIH AR I FET B | AT FIAhd FATFIH JAATHT
FIAET TR C AT afFaRd TaTdewad dAuewd! SErgd a7 (Rate of collision) @@
T, T ARl SIFGH X Tl Bal JAMATE Ifdihdrdl X I Il g TaHr A

15. i. Propane-1,2,3-triol <@HT 9 w=H
i HoHH g IEEC
G5
H H H
16.  i. ST @IS/ BIATHT AT FRIHT ATIH /BT AT ST AT 7T Fel IR AGHT § ASF
ii. STl AR AT ICT/ AR I TART T AT 7 Tl I AGHT I ECT
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Section D
Long Questions
17.i. fefSrea STarSIl e q gH
ii. 8. THERT ATATSTHT AT g SATHRTHT AT Teh AR AR AT T SATHT IRETT A5 |
b. FTHITTE F=STee g ARG AT, TATRE AT ATAIAE SATETHT FFR T |

AT 7 Fel IR AGHT JuF FaThl 9/9 ASH (45 STF R ATH
iii. Sifged T/ A RTe ATATEARYT/ TAE AT/ AT GET SO AGH 4 A
18. i. WS 9 oA AR ECE
ii. BT EHT 9 ASH
i, 9fedrET & ¥ HHET &8 deHT 9 ¥ AgH W STHAT R
19. ST&UEE
i. TSP Ted, ATHN ¥ [qT T
i, afaT oreH, Rifaerar g a1 o= Fer A7 AW R uTH
ERiCEID]
i. Teredl 9ard T qHH "/ HH @I |
ii. EIT T AT Tged a1 o Tl S aEHT R uIH
20.
i, qTFITehT STRTIROT JHR GHT 9 A5H
ii. aTirerg 0°C 3fE 4°C TV qdTser ucd dgq s, ¥ 4°C 2@10°C I¥ qarsar ucd Hag
T, | 4°C 9T Il qawal &l Ocd gvg, | AQHT R uIH
iii. STSRATAHAT drE{el FAZHT UTl STHUT SREBHIAR! TIHAT AN Sad @ a1 SIS ATHAT
UTHIRT ITEUE® Thed 9dg a1 q7T el Ia¥ ofdHT q ISF
21

. a. PR gl SIHT T (=T aTal greg T b ofwehl [or=[H] Feal SgHl Iaal gre
b. FHHFT TAIBT bralb [drg ATATH T FHrebd ARl Hralb0] [owg AATEAaF greg AGHT AT
A Fel R IR AQHT R ASH
ii. ETATHT TepTeTehl a7 el (3 X 108 m/s) T HI=HT TR a7 HH (2 X 108 m/s) &3 | Tehrerehl
T TET TR ATHHATS (a7l T YRR o7 HH AUH] HIAHATS T AIAH =5 @l 3

9IF

22.i.ﬁAWHﬁW|AW§W@@@W SREECD
ii. a7 B Tedtiges anfererent 2 fufeagwr ug or@wm 1 ASH
iii. a1 AT B e =1 Aifirerert s KO o q aF
iv. 779 B @5 [ p SAFAT AM@UHT 7 [ohAlh TAFT ATH Sodeld p TaGAHT T8 @l 9

EEC

23. THT ATHISFT Ford HICAT 3 uSH
fstept <7l fefemer GoR wte SRf gase e | e 4»‘?];4 [
T3 AT el ETESIAINE THTHT GATSUR BIohl T - ‘ < N fsmd
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fafirsfiereor qrfeepTes AR Teaas FAIr T6T TORT 9 |feT AT Aswtase /Afea 9

(Checklist/Matrix-1)

FA THS FAETT HAAAE & FHET | TSI
M g TART I IEAT | AIHPAR | AGHAR
q4%) | (30%) (30%) (R4 %)

1. FFACAF FeawT Y VSQ SQ 3
93. | AT qUT AR Aty 0 McQ LQ ) y
R | AoTEEEST AR ] SQ McQ McQ ¥
3 S = ¥ SQ R
¥. ERIGEX:] 9% SQ 1SQ LQ EE g
4. | raRe HTEAT T SiEA gl R LQ sQ %
g, T T ATATERIT 9 McQ SQ 3
9, e T T q0 SQ MCQ SQ Y
5. | = % VSQ | McQ R
.. | am wfe 0 LQ ¥
qo0. | TR Y LQ, VSQ | VSQ McCQ * 9
9. | Faga 9 Trerhed R SQ SQ/VSQ F
9R. | JEATTS L McQ | VSQ ?
1%, | AAEEH! AR R LQ ¥
Y. | TEEEE gfatmar g MCQ SQ 3
9% | IHE® c LQ ¥
qo. | am| N VSQ VSQ * 3
5. 5|5§\|c|o|cid T FHHT ANThE* % VSQ SQ 3
9%. | a9 STrawr YA gy @A % SQ imcQ 3
SHT q%0 9y 9

MCQ = Multiple Choice Question, VSQ = Very Short Question, SQ = Short Question, LQ = Long Question
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(Checklist/Matrix-2)

faRrsfreter afepterTa) JR=aa AHATor & JAT 9 Qi AT Sepiose /Afea R

Ek THE RTIErUaT FHE | TSI
— p— ——— | L B EC I
(1%%) T R0%) (30%) | (R4%)
Q. FSAF HeTaw y 1S 3
Q3. | =T a9 geuR gtata o | 1McQ | 1VS 1L ° g
3 | EiEEE A ¢ | 1S mcQ | 1S »
3 St =% ¥ 1S 2
‘A ECHIGE T 9% iMcQ 1S 1L 33 9
Y. | aTRE FEET T SET giwar | 1L iMcQ n
S| TRl ¥ ATarER © 1S 1S ¥
© A T A 90 1S 1MCQ iMcQ ¥
5. | =W y 1VSs 1S 3
. | At wrfed 0 1VS§s 1L "
qo. | axE 9% 1L 1VS iMcQ “ %
qq. | for=d qan =weree k| IMCQ | 1VS 1S ¥
R | FEATE " 1S 1VS 3
q¥. | TEEEH AXTEHIT e 1MCcQ 1S 3
. | Tt giatear g 1L ¥
% | TEEE = 1L v
qe. | grg Y 1VSs 1S e 3
95, | ETSSIHIEA 3 TFH ANTHes 3 1VS 1Vs 3
2. | 3 St W@ g e g 1S 1McQ 3
SHT | Q%0 9y oY

MCQ = Multiple Choice Question, VSQ = Very Short Question, SQ = Short Question, LQ = Long Question
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